Lesson 1 Sprint

NYS COMMON CORE MATHEMATICS CURRICULUM

Do as many as you can in 60 seconds.

Do

as many as you can in 60 seconds.

1 |10+1-= 16(10 and I make 1 |10+ 3 = 16 |10 and 3 make
2|10+ 2= 1712 more than 10is |2 |10+ 4 = 17 |4 more than 10 is
3|10+ 4= 1810 and Omake |3 (10+1= 18 |10 and 4 make
4|10+ 3= 19{l0and 3 make |4 |10+ 2 = 19|10 and 2 make
5 |10+ H = 0(l0and dbmake |5 |10+ 3 = 20 (10 and 1 make
6 |10+ 6 = 29|1 more than 10is __ |e (10 + 4 = 21 (3 more than 10is
7|10+ 0= 2210 and 4 make |7 |10+ 1= 22 (10 and 4 make
8|10+ 7 = 2310 and B make s (10 + 2 = 23 (10 and 2 make
o |10+ 9= 2410 and 9 make |9 [10+ 3 = 24 (10 and 8 make
10|10 + 10 = 2510 and 6 make  |w0|10+ 4 = 25 |7 more than 10is
1|10+ 1= 266 more than 10is _ (n|l0+ 1= 26 (10 and 9 make
12|10 + 3 = 2710 and 10 make  |12(10+ 2 = 27 (10 and O make
13]10 + 4 = 2|3 more than 10is ___ |13|10+ 3 = 28 |3 more than 10 is ____
14|10 + 2 = 2010 and 2 make (14|10 + 1= 20 (10 and 2 make
1510 + 3 = 302 more than 10is _ |15(10+ 2 = 30 |5 more than 10 is

Co you know your 10 pluzes?
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Make number bonds of ten.
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Lesson 3 Sprint

NYS COMMON CORE MATHEMATICS CURRICULUM

A. Do as many as you can in 60 seconds.

B. Do as many as you can in 60 seconds.

1 |1 more than 4 is 16 |2+ 10 = 1 |1 more than 4 is 16 2 + 10 =

2 |10 more than 4 is 17 |1 more than 5 is 2 (10 more than 4 is 17 |1 more than 5 is
3 |4+1= 18 |10 more than b is 3 |[4+1= 12 (10 more than b is
4 |4+10-= 1w|h+1= 4 |4+10= 1 b+1=

I5 |1 more than1is 20 |B+ 10 = 5 |1 more than 1 is 0 5b+10=

|6 |10 more than 1 is 21 |1 more than 6 is 6 |10 more than 1 is 21 |1 more than 6 is
7 [1+1= 22 (10 more than 6 is 7 [1+1= 2z |10 more than 6 is
I8 [1+10= 23 [6+1= 8 (1+10= 23 6+1=

9 |1 more than 3 is 24 |6+ 10 = 2 |1 more than 3 is 24 |6+ 10 =

10 |10 more than 3 is 25 (1 more than 8 is 10 (10 more than 3 is 25 |1 more than 8 is
1 (3+1= 26 (10 more than 8 is n(3+1-= 26 |10 more than 8 is
12 (3+10= 27 [B+ 1= 12 (3+10= 27 |B+1=

13 |1 more than 2 is 28 |8 + 10 = 13 |1 more than 2 is 22 (B8+10=

14 |10 more than 2 is 20 |1 more than 7 is 14 |10 more than 2 is 20 (1 more than 7 is
15 |2+1= 20 |7+ 10 = 15 |2+ 1= a0 [F+10 =
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Make a ten to add within 20.
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Lesson 6 Sprint

NYS COMMON CORE MATHEMATICS CURRICULUM

Do as many as you can in 60 seconds.

Do as many as you can in 60 seconds.

: 110 and 2 make e (33 +1= 1 110 and 3 make i 20+ 2 =
: |31 and 1 make 742 + 1= : 21 and 2 make 7 31+1=
: |44 and € make e |31+ 4 = : |33 and 1 make e [21+ €2 =
+ 123 and 2 make 15 140 + 3 = + 122 and 2 make 5 12h+ 1=
¢ |22 and 3 make o |24 + 3 = ¢ |43 and 1 make 20 [36+1=
¢ 141 and 3 make 21136+ 2 = ¢ 130 and € make 2 43+ 2 =
7 121 and 2 make 22 133+ 3 = 7 123 and 3 make 22 136+ 3=
e 114 and 1 make 23 136 + 4 = e 131 and 2 make 23 142 + 4 =
» 123 and 3 make e (40 + 1 = = 124 and 2 make 2+ (30 + 1=
w 44 and 3 make o6 (45 + 2 = w 143 and 2 make 2 26+ 2 =
u 122 and 4 make e 144 + 4 = n 132 and 3 make 26 133+ 4 =
2 |30 and 1 make o7 |32+ 1= iz |24 and 4 make 7 [2D+ 2 =
3 142 and 2 make e 33+ 2 = 13 121 and 4 make 26 (33+5=
i+ |45 and 2 make o (43 + 4 = 1+ |44 and 3 make 2o (42 + 4 =
5 131 and 7 make 0 125+ 2 = 15 120 and 3 make 0129+ 1=

Can you add on the ones fo the ones?
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Add and subtract within multiples of ten based on understanding
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Lesson 8 Sprint

NYS COMMON CORE MATHEMATICS CURRICULUM

Do as many as you can in 60 seconds.

Do as many as you can in 60 seconds.

1 Qandlis 8 |9+1= 1 |Band 215 16 |8 +2 =
2 [IlmorethanQis __ |17 |9+1+2 = 2 Z2morethan8is __ 7 |B+2+2
3 [9+_ =10 8 |9+3= 3 8+ __ =10 15 |8+4=
4 9+1+1=__ 10 10+ 3= 4 B+2+1=_ 10 [10+2=
5 [10+1= 20 (10 + 4 = 5 (10+1= 20 (10 + 3 =
le |9+2= 21 10+ 5= 6 (B+3= 21 |10 + 4 =
7 |2+9= 22 (9+1+5b= 7 |3+8-= 22 [B+2+4
B [9+3= 23 ([0+ 5= B |B+3-= 72 |8+6 =
9 |9+4-= 24 H+0= 9 (B+4-= 24 [6+ 8 =
0|9+1+3= 25 9+ 6= 10B8+2+3= 25 (B + 6 =
1n|9+4-= 26 (10+6 = 11 |B+5H= 26 (10 + 6 =
12 [4+9= 7 [9+1+6= 12 |5b+8-= 7 |B+2+6
13|9+1 = 28 (O+7 = 13 (B+2 = 2z (B + 8 =
14 |10+ 4= 20 |7 +0= 14 |10+ 4 = 2a 8+ 0 =
15 (9+4= 30 [B+0= 15 B+ 4= 30 [9+8 =

Can you use the ten to make these sums easy?
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Decompose to subtract from a ten when subtracting within 100 and

apply to one-step word problems.
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